[image: image1.jpg]~Multiple Choice
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B 1 Find the coordinates of point P in the isosceles trapezoid.

\ o (crab) b (c-ab) ¢ (a+be) 4 (c-ba)
2. Find the coordinates of point Z in the parallelogram.

#
/ a (¢+a,0) b (c+ab) e (a,b) 4 (a,0)

f 3 Rectangle ABCD has vertices A(4.5), B(0.2), and C(6.-6). What arc the coordinates of vertex D?

D A (10.3) b (9-2) o (82) o @

# Isosceles Trapezoid ABCD has vertices A(3,5), B(1.2), and C(8,2). What are the coordinates of vertex D?

a (10,5) b (6-1) e (59 4 (63)
5 Rhombus ABCD has vertices A(-1,1), B(-3,-2), and C(-5.1). What are the coordinates of vertex ?
a (43 bo(40) e (35 4 (34

6. Find the lengths of the diagonals of this trapezoid. Show which formula you are using and show the steps you
100k to find the lengths
3

(boe)—— (b.¢)

a,0) o @0y
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Give the coordinates of points T, W, U, and V, which are the midpoints of the sides.

=/t Lihwf /a »\QU;{‘A ) y= /Zs\ L)

What do the midpoints of a rectangle connect to form? (Use coordinale geometry)
T=(0,b), W =(a,2b), V= (2a,b).and U= (a, 0).

V&t

By the distance formula TW =
and UT=__ ~J 2402

Therefore TWVU isa Loy

To prove a quadrilateral is a specific shape you may have to use midpoint, slope, or distance formulas.
Tell which of those you would have to use and why. Be sure to use complete sentences.
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Prove a quadrilateral is a kite.
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18 In the coordinate plane, three vertices of rectangle HLIK are H(0, 0), 1(0, d), and K(e, 0). What are the
coordinates of point J2

_Tle, d)

19, Give a convincing argument that quadrilateral ABCD with A(-3, -4), B0, -2), C(6,-2), and D3, -4) is a

parallelogram.
- . -3+ —y 4 (3
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20, Tn the coordinate planc, draw quadrilateral ABCD with (-5, 0), B(2,-6), C(8. 1), and D(1, 7).Then
demonstrate that ABCD is a rectangle.





